
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

9083, 2 × 0.001 = ________ 9467, 3 × 0.001 = ________

3762, 3 × 0.01 = ________ 9665, 8 × 0.0001 = ________

1558, 6 × 0.1 = ________ 4161, 7 × 0.1 = ________

8567, 6 × 0.0001 = ________ 4436 × 0.1 = ________

8376, 2 × 0.001 = ________ 2401, 1 × 0.1 = ________

7642, 7 × 0.001 = ________ 3256 × 0.01 = ________

2153, 1 × 0.0001 = ________ 1043, 8 × 0.001 = ________

2823, 6 × 0.1 = ________ 1091, 7 × 0.01 = ________

7104, 7 × 0.0001 = ________ 6889, 3 × 0.001 = ________

9979, 3 × 0.01 = ________ 5790 × 0.1 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

9083, 2 × 0.001 = 9.0832 9467, 3 × 0.001 = 9.4673

3762, 3 × 0.01 = 37.623 9665, 8 × 0.0001 = 0.96658

1558, 6 × 0.1 = 155.86 4161, 7 × 0.1 = 416.17

8567, 6 × 0.0001 = 0.85676 4436 × 0.1 = 443.6

8376, 2 × 0.001 = 8.3762 2401, 1 × 0.1 = 240.11

7642, 7 × 0.001 = 7.6427 3256 × 0.01 = 32.56

2153, 1 × 0.0001 = 0.21531 1043, 8 × 0.001 = 1.0438

2823, 6 × 0.1 = 282.36 1091, 7 × 0.01 = 10.917

7104, 7 × 0.0001 = 0.71047 6889, 3 × 0.001 = 6.8893

9979, 3 × 0.01 = 99.793 5790 × 0.1 = 579
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